9000b-2tlc-eth-12xcba o7 0.0 o7 0.0 .0 0.2
1518b-2tlc-eth-12xcba 3.9 £ 0.0 3.9 £ 0.0 3.9 £ 0.0 +0.0 £ 0.0
1518b-2tlc-ethip4-ip4 4.0 £ 0.0 4.0 £ 0.0 4.0 £ 0.0 +0.0 £ 0.0
64b-2tlc-ethip4-ip4ba 37.3 = 0.0 37.3 £ 0.0 37.3 £ 0.0 +0.0 £ 0.0
9000b-2tlc-ethipd-ip4 0.7 £ 0.0 0.7 = 0.0 0.7 £ 0.0 +0.0 £ 0.0
imix-2tlc-ethip4-ip4b 16.4 = 0.0 16.4 = 0.0 16.4 £+ 0.0 +0.0 = 0.0
imix-2tlc-eth-12xcbas 16.4 = 0.0 16.4 = 0.0 16.4 + 0.0 -0.1 £ 0.2
64b-2tlc-eth-12xcbase 36.9 = 0.1 37.3 £ 0.0 26.7 £ 8.4 -28.6 = 22.5


https://plot.ly/

